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Working for success
will make you a Master;

But

Working for satisfaction
will make you a Legend.

GOOD MORNING!
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TOXIC

(ADJECTIVE): (3Tf§|'€r): unpleasant

Synonyms: very bad, harmful
Antonyms: pleasant
Example Sentence:

She had been in a toxic relationship.
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ERROR DETECTION

1. In science the credit goes to a man (a)/

who convinces the world (b)/ not to the
man to whom (c) /the idea first occurs(d)/

no error (e).

Answer - 1.(a) before man

replace a with the



ERROR DETECTION

2. In my opinion it is not the failure (a)/ that
has made (b)/ him lose the heart but the lack

of (c)/ emotional support. (d)/ no error (e).

Answer - (c) correct phrase is

lose heart means to discourage



3- Mr. Khan has a white (1)/ and a

black dog(2)/ which guards (3)/ his
house from robbers. (4) No error(3)

Answer - 2 remove a



ERROR DETECTION

4- Mr. Gupta leads (1)/ a very busy

life (2)/ so he goes every where (3)/ by
a scooter. (4) No error(3)

Answer - D (4)
Explanation - by scooter in

place of by a scooter




ERROR DETECTION

S5- Kabir and Rahim (1)/ are great
poets (2)/ but the former is (3)/
greater than latter. (4)/ No error(5)

Answer - D (4)
Explanation - the latter



6- The sun shines (1)/ by a day always
(2)/ not by night, because(3)/ it is the

law of nature.(4)/ No error(3)

Answer - B (2)
Explanation - ‘by day’ in
place of ‘by a day’



ERROR DETECTION

7- He (1)/ has abandoned (2)/
criminal activities (3)/ after returning
from jail.(4) No error(5)

Answer - 3 add the

before criminal activities



ERROR DETECTION

8- Mahatma Gandhi did not solve (1)/ all the
problems of the future (2)/ but he solved
(3)/ problems of his own age. (4) No error(5)

Answer - D (4)
Explanation - the problems of his own

age



9- A first step (1)/ in a rational

solution to any problem (2)/ is the

recognition (3)/ that a problem
exist.(4) No error(3)

Answer - A (1)
Explanation - ‘The first step’ in
place of ‘A first step’




ERROR DETECTION

10- Knowledge of regional language is
(1)/ necessary for bank officer because
(2)/ they are to understand (3)/ what
their customer says. (4) No error(5)

Answer - A (1)
Explanation - The knowledge



11- We should drink (1)/ several glasses

of a water (2)/ daily (3)/ if we want to
remain healthy (4) No error(3)

Answer - B (2)
Explanation - ‘of water’ in place
of ‘of a water’ because article is not

used before uncountable noun



ERROR DETECTION

12- You have been learning Tamil (1)/
for last one year (2)/ but you show (3)/ no

improvement whatsoever. (4) No

error(S)

Answer - B (2)

Explanation - for the last one year




13- It is a fact (1)/ that most of

people(2)/ desire to work less(3)/ but

earn more. (4) No error(5)

Answer - B (2)
Explanation - ‘most of the people’ in place
of ‘most of people’ because before plural

noun used after ‘most of’ article must be

'-'-ﬂl\J



ERROR DETECTION

14- Child was looking out (1)/ through the
open window (2)/ with fear (3)/ in its eyes.
(4) No error(3)

Answer - A(1)
Explanation - The/A will be
used before child




ERROR DETECTION

15- Now days worker are less interested (1)/

in money as such (2)/ and appear to be more
concerned (3)/ about opportunities for

autonomy and freedom. (4) No error(3)

Answer - A (1)
Explanation - ‘Now a days’ in place of ‘Now

days’



ERROR DETECTION

16- Only very wealthy tourists (1)/can
afford (2)/ to stay (3)/ at Imperial Hotel.
(4) No error(3)

Answer - D (4)
Explanation - the Imperial Hotel




17- The language (1)/ school (2)/ is in (3)/
the Indira Street. (4) No error(5)

Answer - D (4)
Explanation - Indira Street. Article will

not be used before the name of road and

street




ERROR DETECTION

18- Climbing the Mount Fuji (1)/ in
winter (2)/ can be (3)/ very dangerous.
(4) No error(5)

Answer - A (1)
Explanation - Climbing Mount Fuji.
Articles are not used before the name of

mountain.



ERROR DETECTION

19- Money (1)/ which is source of (2)/ the
happiness in life (3)/ becomes a source of

peril and confusion unless we control it.
(4) No error(S)

Answer - C (3)
Explanation - happiness in life.
Happiness is singular uncountable

noun so article will not be used before

hannine<e



ERROR DETECTION

20- The rich cannot accumulate (1)/ the
wealth without (2)/ the co-operation (3)/
of poor in the society. (4)/ No error(5)

Answer - D (4)

Explanation - ‘of the poor’ in place of ‘of

poor’



21- My elder sister came home (1)/ after
the sunset (2)/ and had gone (3)/ before

sunrise. (4) No error(3)

Answer - B (2)

Explanation - after sunset in

place of after the sunset




HOME WORK

She said the pilot didn't have a lot off information

for the travelers but the plane had air conditioning

and attendants offered water and juice a few times.
(A) didn't has a lot of information for the
(B) didn't have plenty of information for the

(C) didn't have a lot of information for the

1. Only (B)
2. Only (C)
3. Both (A) and (B)
4. Both (B) and (C)

S. No change required



I have so much reading that I can’t

keep up with the writing exercises.

A. follow

B. surpass

C. succeed

D. detach

E. All are Correct







